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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
In which of the following research deslgm h}-’pD[hE%]‘s is not necessarily reqmrecl ?
Ryt siier oTedi & § FREE TR # AEeIEaT 787 5 2
Options :
Descriptive

—
[ = Hc

1. ®

Experimental
2. % HARTE

Diagnostic
3 % r‘_‘|.. CIHIHE

Exploratory
4, FATED
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Question Label : Multiple Choice Question
Which sequence of research steps is logical in the list given below 7

TR | ATEEE =701 H DHE-AT FH dlid® 5 ¢

Options :
Problem formulation, Analysis, Development of research design, Hypothesis
making, Collection of data, Arriving at generalizations and conclusions
HHEAT HEM4A, W“_F'TUT ?FlTaﬂ_f"-f ?ﬁ[ Aa®HE, Jiheddr =Her, 995




Development of research design, Hypothesis making, Problem formulation, Data
Analysis, Arriving at conclusions and data collection

ST ATHTHTT & T, IEedH T FHV, FEET =9, "9 [JoerdoT,
5 w =T FEOT ud e O

Problem formulation, Hypothesis making, Development of a research design,
Collection of data, Data Analysis and Formulation of generalizations and

conclusions
THET OIS, Oehedsr EIer, ST S AT @1 O, T9HT
3 o TFEERTOT, HHG eIl FEEEOT T HE e

Problem formulation, Deciding about the sample and data collection tools,
Formulation of hypothesis, Collection and interpretation of research evidence.

AT 9, TSl o2 8% UHAHRI9 SUFEIO 5 T H v
4w T, TEEhedAT FHUT, S qed & Jhad Ug [Ha=a-
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Which of the iullomng is called non- prn:rbatn ity sampling ?
= Y T-S9eran afaes™= ®ar S 8 7

Options :

Quota sampling

1.\:’? EARIGEE ]

Cluster sampling

2' % .th - xli‘{‘l:r



Systematic sampling

3 % =g Oides

Stratified random sampling
4 % TG HEE Afaees
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
During which stage of research coding is essential ?
Options :
Before drawing a sample
| w Afceel T S s

Before collecting data

After cleaning of collected data
3 @ FHE HATHST & dHe & 9.

After tabulation of data

L% HAHSI & TAREHIOT & 9%
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Under which of the following situations, Chi-square test is applicable ?
Frfaiag 5 | fohE R § $E-ad 9o @ng B 2 ¢
(A) Test of homogeneity

Tehegal TIe9T
(B) Test of goodness of fit

qHo 39T (=9 ATE fFe) T3

(C) Test of equality of two sample means
<l ufcesl ATl & GHAEAT BT T

(D) Test of independence of attributes
o1 =T FGAAT FHI T

Choose the most appropriate alternative from the options given below :
A e T Tgwedl # O § 999 3Ugad [Johed & g Hiei

Options :

& (ALB)

. (A), (B), (D)

. (BL(C),(D)

L % ©.D)
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Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which scale is the simplest form of measurement ?

AT 3 {99 G T9 HE-A1 JJ1ET 5 7

Options :
MNominal

.

1. ¢ i

L

Ratio
4, % SHETH
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the Iollomng correlational value is the strongest .
B IIEE o o9 FH=E-9T HEdr= Jod T AT s 0

Options :

~40.10
1. %



—0.95

2. %
. +0.90
~1.00

4.9
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Cronbach alpha is a measure of :
AT FATH e A F

Options :
Validity
| % g9

Reliability

5 v AFHAEAT

Sensitivity
y x TSR

Normality
4 % HETEAT
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which of the following statements is frue about qualitative research ?
oA FIHEETE & 97 H DA T GFAF 5 ¢
Options :
It's purpose 1s generalization

Very big sample size
oicresl T TST AT

2. %

In-depth study of a phenomenon

3.
Use of standardized scales
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Standard error of Mean is :
qEEE A A6 e E o
Options :
Mean of standard deviation of sampling distribution
| w TFEEE @O @ AWE e o A




Standard deviation of sampling distribution of mean
5 @ TEAN @ Afa=a GO #r ama o=

Mean of all standard deviations from population
3 % AT | JEl "AES [F=FeHl @ HEEE

Error in standard deviation 4::1 the aample
L% afceel @ A A= " I
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Variables which influence the experiment but are uncontrollable, are examples of :

=T ST UART I TANda e 2, olichd Ia4Ed 8ld 2, 960 U 3a=90

Options :
Dependent variables
| % FHAMAT =Y

Independent variables
, x A=A =TT

Intervening variables



Extraneous variables

g % TRT AT
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Internal validity refers to :

Options :

Result can be verified in control conditions.

oo MEET FEfaar § Joidg T S Jhar =

1. ¥

Whether the findings are relevant to the participants’ eveﬂfdw IIVE% ?

2_33?JTT?IEFEWW?EH4; SEq & T UTEEE B OY

The degree to which the researcher feels that this was a worthwhile [J['D_]ECI
579 5a O% eUgSdl &l @9l & &6 9% usm | aide==n = |

How accurately the measurements represent underlying concepts ?
o AT FOET o 9 | FAaeied ATERenSAl @ Afaiad wmed B¢

4,

Question Number : 13 Question Id : 50939819635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Which one of these is not normally associated with quantitative data ?
=H A HE-91 9EF T H AERES ASSl J 9Eegd J8f & ¢

Options :
Analysis begins as data are collected
| x ARSI & Hhe & qeT 2 fgeeuer ey 2 2

Numbers
2, w AT

Researcher's views are of high importance

, o TEBCE FGlEHT A AfEE "EwT 2

o

Analysis guided by standardized rules
, w AT A T T R e
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of these should be most valuable to show a gradual change in behaviour over
time ?

qH9 & | #gGE H Pas 9idgod Ed % g 39H | BE-Er 994
AT H*?Tﬂa_':'rl EMET = L

Options :
Extrapolations

| % arede=



Longitudinal studies
5 @ SIS AT

Snapshot surveys

- AT HAE

Experimental studies
4 % ST S0
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

An advantage of open-ended questions is that :
T gl (9T deg) @ uH @ 3% % o
Options :
They can also be used in topic guides
| % ITRI SUANT [@9a s # A S ghdn B

Respondents can ex press themselves freely
5  STGET TE H TGS TG H AT Y Hqhd B

Coding is a challenge
, % DIST OFH FART &

Potential is high for interviewer bias
4w SEATEHREAT gamE & faq geEer At B
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What is the purpose of the conclusion in a research report ?
U OTE "iaded § =pd &7 35699 49T § 7

Options :

It explains how concepts were operationally defined and measured

q5 Jarl & & B FFERINA] B 9Ee B9 " 9EaT A "3T9
], % THET AT

It contains a useful review of the relevant literature
, x TUH ATEHME G ®OITERT AT enAa &

[t outlines the methodological procedure that were employed
s % I5 FEISE Tsid ARl H1 Ta9Er 9T B B

[t summarizes the key findings in relation to the research questions

2

4 T5 9T HeAl & €99 H gH@ Wepel @ "W aEgd B B
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following statement is frue for research ?
Ffaiad 8§ 8 HE-91 F99 AJE9E & @0 a7
Options :

a
=



Pilot study is conducted on a larger segment of the research.
| x TEEE e HAIHIN & 0 [GEga @S 97 AMIT WA S ¥

Causal research is not scientific in nature.
FHLONT S TE-h Fhic &1 T8 56l |

2. ®
Research is often referred to as scientific inquiry.
. o FIETN B AFEL TG FETT & FT H Hef o swer B
The sample selected for research need not represent the universe.
FAIEI F 60 FFG Mes] §HE FH AGEEE H A5 AEITD T8
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A researcher has obtained a set of data in a sample of 14 subjects 4, 13, 5,7, 22, 16, 8,
10, 12, 16, 15, 14, 9, 8, find out the median :

U SlEehal 4 14 9UA 7 4,13,5,7,22, 16,8, 10,12, 16, 15, 14,9,8, % =94
SRS &1 UF He U R B, AET S iy

Options :

1,:.‘4’”

5 % 10

y o 12
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

A researcher wants to find out that how many persons have used Ayush decoction to

enhance the immunity during Covid-19 pandemic in the year 2020-21. Which kind of
study design is best for researcher to follow ?

U STEeRal 9% 90T @ 9T =@sal 2 96 99 2020-21 % s far o o
g U FHIfas-19 HeMEET & S Ofa9en ged & o fhad stdaar o
AFE Fe H ITAN HAT | oMEEAT & 'JFPFPT'T # [ FFH "
§irer TreT 9T 2 7

Options :
Cross-sectional survey
» FrE-FFeEE T4

1.

Case-control study
2 % f:l_\.-'x 'ai:l‘:f ;.._,.-._'J-l

Randomized controlled trial
- qei=8a afEa Tieor

Case reports and series
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Cohort Study is a type of :

. o = i _ § _ 2,
HEIC ST HHAdd =hl U HHIL & @

Options :
Case report
Cross-sectional study

Longitudinal study
3 o FIEE FHEA

Randomized control trial
TG =% Ha=I0T qIIeqo]
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Mendeley is a tool for :

Hed Mfaiad @ o q9eEE B o

Options :



Reference management
| HoH TEEs

Hypothesis evaluation
e dT oAl

Measurement of central tendency
Had TG F AT

Data analysis
4 % HATDHST IR
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following is a relative measure of dispersion when comparing variables
which are measured in different units ?

[afe~ ghEal # AW SN 9rT =0 @0 ol wed J69E eienad 5 OH
-1 [&TIH T 0 U A9T 7T B 7

ap

Options :

Coefficient of variation

[y AT D

Standard error of mean
5w T B AEE IS



Interquartile range
FaAgED [N

3. %

Standard deviation
4 % ATIE TEEEE
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Impact factor of a journal means :
Options :
The number of publications of a journal in the past three years
| w TOBCT O 99T H O 9 @ a5 HeT

Measure of the frequency with which the average article in a journal has been cited
in a particular time period

HAEF @1 "9 TEE 91y e 9 § of"a o @ v e qe9h
Farg # Iggd AT TR

2.¢

Indexing code of the journal

Publication fees of the journal
TR R ORI 96

4
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

In a study to assess dental pain, patients were asked to rate pain experience as no pain,

mild pain, moderate pain and severe pain. What type of variable is it ?

Eﬂ'fﬁ' F_E ﬁﬁ? ol SHThoT A ':.|',.~{~2| "_\fﬁ T'irl T I SHEHA ﬁ, W FF?[ i?;- :-:“TJ 2471;‘3]?

H AT S8, 501 o, AFA T AR THE S B ¥9 H ¥ FIA & @Y

Options :
MNominal

-

Ordinal

Interval
" 3;{ F‘\_ J_‘ ||_-\r|
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Which of the following is the best method of ensuring that the experimental and control
arms in an experimental study are similar with regard to known and unknown
confounders at the planning stage ?

MeEgd # " SE-ET 95 gEieaa Sl B J99 J=sl i 5 6
O HeEd HO9EiE JR MEE #9E FEem WY 9 o5 HY
FATT FHOT T HAT H HAH B

Options :
Blinding

1 % -:’r:fElT = RES|

Allocation concealment

) % AEeA Il

Randomization
e =S 01
3.¢ =

Matching

—
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Any process that tends to produce results that depart systematically from true values in a

research study is called —
FE Al OEFET AT UH IO 300 Al 5 OAl U oY Fegdd H O HE
qel | =ZEeed B9 H TS HEd B, HEdn

i

Options :



Chance

L&

Bias

2 @ TR

Random error
, w Jgs® FT

Effect modification
4 % HET HATEA
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

When the study ﬁndmg is generalizable to the target pnpulatmn then it is :

T FATIA A WY AT SAEEA & A0 AEEd B B, a1 98 B
Options :

Internal validity
L% AT Il

Reliabil 1[".r

233]?

Accuracy
3, & SRR



External validity
4 TE e
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If the shape of a frequency distribution is lopsided, with a long tail projecting longer to
the left than to the right, how would the distribution be skewed ?

¢ UF FRARAT F2d W AN UHEE =, OEH 0F @9l 98 S dR

A F JOA H AE AN & B B, a1 gaer w9 [qus 2Em v

Options :
normally
| % ST

negatively

2@;”1*"‘_’-‘

positively

nominally
4 % STHATE
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Question Label : Multiple Choice Question
The problem of 'research ethics' is concerned with which aspect of research activities ?

2T SRl | FHE=0 a9 AJHIE TaiaeEml & Y dsg " B 7

Options :

Following the prescribed format of a thesis
Fifgd & i 9=g @ e H

1. %
Data analysis through qualitative or quantitative technique

, x JOTEG AT HAEHD THAG B AAT F AR freero
Defining the population of research

s FATEEN W FAECAT B ALHNAT AT
Evidence based research reporting

4 o T AT Trer T
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Question Label : Multiple Choice Question

Which one of the following variables is nof categorical ?
a5 | HiE-A1 =97 guiigs J8F 5 7
Options :

Age of a person

L@ =T T HTE



Gender of a person : male or female
5w THET =ET HORET ¢ gET A1 Aea

Choice on a test item : true or false
., TUIEOT S B I FET AT

3.
Marital status of a person (single, married, divorced, other)
4 5 UF—E _q"';_qJ E"’Tl- r:qulr..:’&]i TT'QTH ( ":.EI-'Q-:- Fl:_'l 2 '_"_*‘ » E{‘r I= J%F‘*T: W}
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Plagiarism refers to :

HifEfam =] J add &

Options :
[llegal duplication of print and electronic work
o T 3T SEECi-S Hd # 99T GEad

1

Converting data in survey and research reports
) % AW HT e AE § SAEmsr grgiid Sl

Presenting ideas and expressions of others as your
T @ AR AT S B A e A7 S § e
\;_..4’ ﬂ:.:r_;lﬁ -

3.



Making errors in paraphrasing or citations

4 x AT AT TFEEN F At ame
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following is an example of a secondary source of information ?
M= H # @ gE @ (EdEs i @ Iesd 57

Options :
Experiment
% A

Survey

, % GO

Questionnaire

4 % qeATawl
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Question Label : Multiple Choice Question



Which level of measurement scale is always having absolute zero ?

| =T & A9E THE | BHEN WYue o Biar B 7
Options :

Nominal
1. % alE

Ordinal

= o =]

2. %

Ratio
3. & S

w2

Interval
ﬂa ?__ |§r
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Question Label : Multiple Choice Question

As per UGC (Promotion of Academic Integrity and Prevention of Plagiarism in Higher

Educational Institutions) Regulations (2017), the maximum allowable limit of similarity

index of a PhD thesis with that of already available literature in that field is :

TAEN (T==9 o Sl " ASGHES F@EsSAl w1 gl oA 1 HY

HiElca =0 H1 T=H9E) [JEEE, (2017) & OFAFEN, TO=El @ FHE
H=h6 H [THTH EhE JH1 | 39 A9 H 980 {390 HJied & J1Y
ofifqg & :

Options :



20%
20 "icTeTd

15%
15 AferaTer

10%

3 @ 10 Hraerq

25%
25 AiaeTa
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Question Label : Multiple Choice Question

A formal document that presents the research objectives, design of achieving these
objectives and the expected outcomes of the study is called :

AT a1 9T & 3esd, 39 3Geedl I TId Hed &l JaEl
l'lf_[ A & AdTdd 9reomEr & ﬂiﬂ_ﬁ A %: Hee Tl %‘ :

Options :
Research design
| w ST O

Research proposal
) <9 W3dTd



Research hypothesis
s % O T

Research report

L% e
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Question Label : Multiple Choice Question

Through which of the following methods of research 'cause and effect' relationship is
focused 7

efafgd § § eig &1 e 9= @ R AR U9E qERg 6
Fiza fpar sar 2 7

Options :
Ex post facto method

Case study method
o w AT IS T

Experimental method
3 o AHETRTE T

Historical method
y w OTTETES TS
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Question Label : Multiple Choice Question

The degree of freedom for paired ¢-test based on n pairs of observation is :

n I & AT G AT AT o8 & 0 Fasdn #l Fie B o

Options :
L% 2n-1
> x n—2
3 % 2n—=1)
4 v n—1
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Question Label : Multiple Choice Question

Which of the following search engine is exclusively meant for scientific information ?
M=l # F SE-A J= S9d [giereadar e GEaiEl § qeiead

ap

Note: For this question, discrepancy is found in question/answer. Full

Marks 1s being awarded to all candidates.
Options :



Altavista
AN = i
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Question Label : Multiple Choice Question



Study the following graph and answer the question.
AT /1 AFaT &Y AT 959 &1 397 STy |
Number of Girls and Boys participating in a Rally from Five Different Schools :

O AT el | I H AN @ Jell asihAl ST asdhl &l S

=
2 .

O Girls
B Boys

600
550

450

|

2501
2001
15061
100

1

Number of Children

A-B C D E

School 4

What is the total number of boys participating in the rally from schools A and C
together ?
el A 3T C | et Yol # A dH 49l sl 6l e Jedr {ahal

2

Options :
| % 975

% 925
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Question Label : Multiple Choice Question



Study the following graph and answer the question.
A B/ A=A HE AL U Bl 3AL ST |
Number of Girls and Boys participating in a Rally from Five Different Schools :

M= HERT-HTET el | Yol " O|ET o 9l aSiehdl AN sl B A
=

L

0 Girls
B Boys

3
I

Number of Children

TR

School R

What is the average number of girls participating in the rally from all the schools
together ?
4T el | HAsT Ve " OAF @ gl ashdl ® AEd S Gl

s

Options :

| % 500

. 480
2. %



3.¢
4% 520

Subject & Area Concerned
Section Id : 509398287
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 60
Number of Questions to be attempted : 60
Section Marks : 180
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 509398314
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 50939819663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
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Question Label : Multiple Choice Question
DTY1.1 QTL in rice contributes to :
Options :

| Rainfed adaptaion

> % Heavy metal adaptation



;3 % Flood adaptation

4 % Salinity adaptation
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Question Label : Multiple Choice Question

Genetic purity is maintained by applying Hardy- Weinberg law in :
Options :

| % Rice

> % Wheat
3 % Mustard

4 Maize
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Question Label : Multiple Choice Question

Self incompatibility in general is helpful for hybrid seed production in :
Options :

| % Pigeon pea

) Toria



333Pea

4 % Maize
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
The magnitude of heterosis is lower when ;
Options :

| = Parents are geographically closed

) % Parents are genetically diversed

3 Parents are genetically closed

4 % Parents are geographically diversed
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Question Label : Multiple Choice Question

Hybrid seed production in rice in India is being done through ;
Options :

| v CGMS



, % CMS
; % EGMS

, » TGMS
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Bulk method of breeding was used by :

Note: For this question, discrepancy 1s found in question/answer. Full

Marks 1s being awarded to all candidates.
Options :

1 East

5 Harlan

3. Hull

4 Fairchild
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Question Label : Multiple Choice Question



Recurrent selection method was proposed by :
Options :

| » Harlan

. Hayes and Garber

3 % Fairchild

4 % Jones
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The technique that reduces the duration of breeding generation :
Options :

| Backcross

, % Pedigree
3 Double Haploid

4 % Bulk method
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The number of linkage groups in maize are :
Options :

L 10

5 % 20

21

3. =

L % 22
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The probable ancestor of maize is :
Options :
| % Nivara

Reticulatus

2. %

3 o Teosinte

4 % None of three
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Question Label : Multiple Choice Question

The African line proved a boon in Indian Sorghum breeding is :

Options :

| % Norin 10

) w Yeery
3 Jeralera

4 % Teosinte
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Question Label : Multiple Choice Question
The Indian Seed Act was enacted in :
Options :

| % 1954

1964

2. %

5 % 1969

4 v 1966
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The ribosome is involved in all the following, except :
Options :

| % Peptide bond formation

»  Aminoacylation of tRNA
5 w Binding of protein factors during elongation

4 % Binding of aminoacyl tRNA to mRNA
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Question Label : Multiple Choice Question

When the tryptophan is present in the environment of E. coli, the tryptophan binds to the :
Options :

% trp operon

, w UIp promotor

3 % trp operator

4 P Tepressor
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The operon that controls tryptophan producing genes in E. coli consists of ;
Options :
| % Only one gene

) % Two genes

3 % Three genes

4 Five genes

Question Number : 56 Question Id : 50939819678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which of these operons is anabolic ?
Options :

| % Lac

) % Ara

3.0 1P
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The Chemical name of thymine is :
Options :

L% 2-oxy-4-aminopyrimidine

5  24-dioxy-5-methylpyrimidine

3 % 24-dioxypyrimidine

4 % None of three
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Question Label : Multiple Choice Question
A radioisotope used to label proteins differentially from nucleic acids is :
Options :
32
1. % P

) ® I4C



i5

3.0

4% "N
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Question Label : Multiple Choice Question

Bacteria protect themselves from viruses by fragmenting viral DNA upon entry with :
Options :
| % Methylase

) Endonucleases

3 % Ligases

4 % Exonucleases
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Question Label : Multiple Choice Question

A plant of genotype AB/ab is test crossed to ab/ab. If two loci are 20 map units apart
what proportion of progeny will be AB/ab ?

Options :
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Question Label : Multiple Choice Question

Albinism is a recessive human trait. If a normal couple produced an albino child, what is
the probability that their next child will be albino :

Options :
L& 1/4

5 % 18

3 % 1116

4 % 164
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Question Label : Multiple Choice Question
Mendel did not observe linkage because of :
Options :

L& [ndependent assortment

) % Synapsis

3 % Mutation

4 % Crossing over
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If a gene is not expressed in all the individuals carrying it in appropriate genotype then it
is known as :

Options :

_ Complete penetrance

5 % Uniform expressivity
;3 Incomplete penetrance

4 % Incomplete dominance
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Question Label : Multiple Choice Question

Which of the following is also known as chromosome painting ?
Options :

| % FISH

) GISH

3 % Micro-arraying

4 % Staining
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Question Label : Multiple Choice Question

To analyse the albumin-encoding mRNAs with a DNA probe, a technique used is :
Options :

: _ L
. Northern blotting

, % Western blotting

3 % Southern blotting

4 % Mass spectrometry
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Question Label : Multiple Choice Question

Which of the following techniques was used to develop slow ripening tomato ?
Options :
| % RNAI

) % Ribozyme technique

5 w Gene disruption

4 Antisense RNA technique
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Question Label : Multiple Choice Question

The transgene in transgenic behaves as :
Options :
| % Recessive

) Dominant

3 ® Co-dominant



4% Overdominance
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Question Label : Multiple Choice Question

Which of the following markers are example of co-dominant markers ?
Options :

| % RAPD

5 % Biochemical marker

, % RFLP

4 Both Biochemical marker and RFLP
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Gene deployment can be done at :
Options :

| % Time

) % Space



3 Both time and space

4 None of three
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Question Label : Multiple Choice Question

In immune reaction, reproduction rate of pathogen is :
Options :

| % r=0
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Antixenosis is the mechanism of :
Options :

1 ¢ Insect resistance



) % Disease resistance

3 % Both Insect resistance and Disease resistance

© None of three
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Vertifolia effect is associated with ;
Options :

Ty o | o
L Wart disease of potato

, » Potato scab disease

5 w Late blight of potato

4 % Early blight of potato
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



DNA present in mitochondrial chromosome is involved in :
Options :
| % Zig-zag inheritance

, % Criss-cross inheritance

5 % Mendelian inheritance

4 Non-mendelian inheritance
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Histones which is most easily separated and least conserved during evolution is :
Options :

% H2a and H2b

2.V,,Hl

3% H3

4¥3H4
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Synaptonemal Complex is formed in which of the following substages of meiosis I :
Options :

T
L& Zygotene

) % Leptotene

3 % Pachytene

4% Diplotene
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Mitochondria term was given by :

Options :

L& Benda

5 % Sutton

3 % Belling

4 % Batson
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following mutagens are non-ionizing and low penetrating ?
Options :
| % Gamma rays

5 % X-rays

3 UV rays

4 w Fastand Thermal Neutrons
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Question Label : Multiple Choice Question

Which of the following mutagens has usage in classifying transition mutation ?
Options :

L% Proflavins

% Nitrous acid

3 Hydroxyl Amine



4 % - Bromo Uracil
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The base analogus 5 Bromo Uracil (5BU) are mutagenic to :
Options :
| Replicating DNA only

) ® Non Replicating DNA only
3 % Both Replicating and Non replicating DNA

4 % Are not mutagenic
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Selection for recessive mutations can be practiced in :
Options :
L% M, generation

) & M: generation



3 % M; generation

4 % Mzand M; generation
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In sexually reproducing species, which layer of periclinal or sectorial chimera is transmitted
to the next generation :

Options :
| w Lilayer

5 « Lalayer

3 % L; layer

4 % Li. Ly and L layer
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following trait was improved in barley due to mutant variety "Diamant" ?
Options :

% Stff straw



5 « Improved grain to straw ratio

3 % Malting quality

L% Improved resistance to downy mildew

Question Number : 83 Question Id : 50939819705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

In a random mating population, the genotypic frequency of heterozygote (2pg) is less
than the total genotypic frequency of two homozygotes (p* and ¢°);

Options :

1. % When gene frequency of p=10.1 and g = 0.9

5 % When gene frequency of p = 0.2 and ¢ = 0.8

- When gene frequency of p = 0.4 and ¢ = 0.6

4 When gene frequency of p=0.5 and ¢ = 0.5
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



In a population, two genes segregating independently are not in equilibrium. If the value
of d were 0.4, what will be the value of 4 after 3 generation of random mating ?

Options :

L% Zero

5 % 0.025

, % 0.016

4 0.050
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Frequency of recessive allele is 0.4. What is the frequency of heterozygous carrier in the
population of 200 ?

Options :

| % 48

2.\'«’*’96

3 % 100

4 % 196



Question Number : 86 Question Id : 50939819708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If a population is maintained by random mating among 20 pairs of parents, in every
generation, what will be its inbreeding coefficient after 10 generations :

Options :

0.118
1.¢

, % 0.061

, % 0.025

4w 0.050
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The reduction of variance caused by selection is known as :
Options :

_ Standardized effect
1. %

) Bulmer effect

3 % Selection differential



4 % Selection intensity
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Breeding value is measured by :
Options :
Genotypic variance (Vg)

« Phenotypic Variance (Vp)

3 % Dominance Variance (V)

4 Additive Variance ( V)
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who proposed multifactorial hypothesis ?
Options :
L Nilson-Ehle

) % Darwin



3 % Johannsen

4 Dewey and Lu
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which statistical method is not a QTL detection method ?
Options :
Simple interval mapping

5 % Composit interval mapping

3 % Multiple interval mapping

4 Deletion mapping
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following statement is true for Line X Tester analysis ?

Options :



It estimates GCA and SCA variances and effects but fail to detect epistasis
|« interaction

, w Itestimates GCA and SCA variances and effects and also detect epistasis interaction

;3 % Itestimates GCA but not SCA variances and effects and epistasis interaction

it estimates SCA variances and effects but fail to detect GCA and epistasis
4 % interaction
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

When two or more nonallelic gene pairs affect the same character in the same way, it is
called ?

Options :

| % Pleiotropy

5 % Additive expressivity
5  Polygenic inheritance

4 % Total penetrance
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Quantitative characters follow :
Options :

| Mendelian inheritance

) % Non-Mendelian inheritance

5 % Both Mendelian inheritance & Non-Mendelian inheritance

4 % None of three
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one always compute non-negative estimate of correlation ?
Options :
L% Simple correlation

Partial correlation
2. %

3 Multiple correlation

4 % All of three
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Path coefficient analysis estimates :

Options :

L% Direct effect of independent variable on dependant variable

) % Indirect effect of independent variable on dependant variable
. Residual effect

3. %

4 All of three

Question Number : 96 Question Id : 50939819718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Mapping populations used for QTL mapping are :
Options :
., Recombinant inbred lines

5 % Double haploids

3 % F- population



4 All of three
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Non-random co-segregation of alleles at two or more loci is called :
Options :

L% Linkage

»  Linkage disequilibrium

3 % Recombination

4 % Noneof three
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

According to Hayman's approach of diallel analysis, when the regression line passes
through the origin, it indicates :

Options :

| % Over dominance

) & Complete dominance



3 % Partial dominance

4% No dominance
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The concept of partial diallel mating was developed by :
Options :

| % Sprague and Tatum in 1942

) % Rawlings and Cokerham in 1962

3 Kempthorne in 1957

4 » Comstock 1948
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The success of Genome Wide Association Study (GWAS) is rely on :
Options :

| w» Linkage



) Linkage disequilibrium

3 % Genotypic estimated breeding values

4 % Distance between alleles



